OM< AT - £ERFEFHT

FRR,

o8

FMNEREN NBT 55 =4

& ST Rl
(I BN 2B A — &, AR 610101

[HE] ARG S 0L, SFAELRA P S AZH O — R0 BN, o T3 AT T WA B, 38 2 R 5o B9 HL
F, AT ALE RV LT BB, VAT 57 MNP LN IRE BT, ) T A LRI 6 o R TR, D R R

PhBLE X 8 P AL,
[REim] F43%; F50on; Mblaxl; 1A

NN S B A RE B, HHE LR E4
NIV B R £ o AR R AR (0 AT T R4 738 24 i 98 Bl 2%
R, AR ARG IEAT N B H W H AN h 2 B E Y
PRI A AR An] R4 T A Bl 5 R B8 L A N T I 2
PUFHEAH A RS AHA R RTIBRIE .

— FARNMTEL

AELNE AR 22 T2 A0 B A T B — 28k
AL AN, Sl WA RO G BEAS [ o DA 25 431
Ut B (B R S84 oT) o

1 1: A2 ] R AN ASZAF 12 A T8R4 4E—Ik
PR G X B TR PEAT P Rl A i i % - D12 A A
Tt 4 500, 4F— K P 4 18 500; @12 H #y HA T ¥
4 500, 24 A %4500, &4F— R PEX 4 18 000,

R

THEHFL=(4 500-3 500)x3%=30

BAE—RANER 4 124 A 43 18 500/12=1 541.67,
T B2 10% , B 1R AL 105, 3 44 B 4i=18 500x10%—
105=1 745,

YAFi411=30+1 745=1 775

iy

T H2#408i=(4 500+500-3 500) x3%=45

AR 445 121> H 43 : 18 000/12=1 500, i
FHB 3%, 1 4 BiAii=18 000x3%=540,

YN A1 =45+540=585

S5 AL TE PR SRR — K, 23 KR Bk
ONBLAR R, TR LS S PR SR A R

SIH 5 =R 2, SRR LR M R B H L R
A H T B4R M 4 500, W] 4 4F 40 Fi=[ (4 500+1 541.67—
3 500) x10%-105 ] x12=1 790,

B —Fh R FHPNBL=1 775+30x11=2 105

5RO R AAENBI=585+30x11=915

[J-46 - 2015.04

A LT 5 02 58 A 5 AR A A A2 X Fh
R 7 3 SR B AR R ) [ R,

AR SRR B A B T RBCR LT T —AM 4K,
H 2 FEBLAE N R IR - T e, BRARBL R K
U, BIEE H T B8 AR LR AL TR B F AT AR
YABLA AN LB RO R T8 AR LR TR 3%
PARGOR b, Bl D HK B A 1) T3 B Gk A
A2, AR B e, 2 o M J5 2 5 B N H BB 322
YR, A3 ML 238 A B, UNER = Fh oy 28 KM HL e — Ry &
YR Z2 L FHIK ,  TARZ KT 18 000,54 000,108 000 %
SR AS EF—BORIAR, R PR LR
E

]2 R4 H T8 4 500 A48 AEZ442 54 120,

M2 R T H 94 =1 000x3%=30, -
Wit 124 H 404 : 54 120/12=4 510, 3& FHBI % 20% , i
4% 555, Wi 41=54 120x20%—555=10 269, 24ELN B
=12x30+10 269=10 629.

RIS e A9 BE=[ (4 510+4 500-3 500) %
20%-555 | x12=6 564,

AR 5, S s g B s

T R T TR R R A TRERIA
1| 3 500 Y FIBREL , 753 FIH SR A 250, 5 kR
B2E SR, A FERE A W SR IS A R BOR Tk
B, HAD T BB A0 5 A B ST , XoF A ol 4 45 52 i)
RKR, e E I RS 5.

. HF BN B SMTEX

FETT AT R IR A K, A NS 95 5 A B &2
AR 30 (R G, FE BRI A S AT A 2548 B, SR At & %
BRI o B TR A 4R W B B | X FEAE A TR
It B B R AT 49 0 5 R A A ) T S B IR TR
B, Seda e, J5 e . B 155 55 W AR 2 20 000 7T )5 A



AR RE | 3 RIS L8

1. 5 B WNART A AR AE , R A R AEHC

] 3: 22 HEHUAS — Uk PE 55 45 WA 25 000, 38 43 41 7
23 0 R IX AR W — 58 3K B, 43 0 k45 T 1000, 5 000 .
10 000.15 000.25 000 T &L AN AS A NS .

FEmE 37 HHAnER PR %R =25 000%0.8x0.3=6 000

(1)4E7 1 000, A H FRA , AT 401 R o 1 40 B A=
(25 000%0.8-1 000) x0.2=3 800. 18 W 5 , > AWt A =
25 000-3 800-1 000=20 200,

(2)457 5 000, A8 H FRAT , AT 401k o b 40 B A=
(25 000x0.8—5 000)%0.2=3 000, &M 54~ At A=25 000
3 000-5 000=17 000,

(3)9514 10 000, A H PR3, I AEFIIR 6 000, [ 44 P i
=(25 000x0.8—6 000)x0.2=2 800 fBME5 > A A=25 000
2 800-10 000=12 200,

(4)F518 15 000, &8 HH FRAS , L REFIIR 6 000, [ 44 F i
=(25 000x0.8—6 000)x0.2=2 800 BME5 > A A=25 000
2 800-15 000=2 200,

(5)4R 14 25 000, it H B4, HAEFTFR 6 000, I 44 Bi 40
=(25 000x0.8—6 000)x0.2=2 80085~ A A=25 000
2 800-25 000=-2 800,

B — RIS OUAH L, ZEFNBRBRA LA T, D48 g 4l Bl
Z ARG WA 22 5 R 5 = U R AL, N BTG
FE5, R TR G S A R B AT, AN RE D ABE
P AR 18 o AN R JHLAR: 1) A2 5% ORI O, 4RI 1, 0%
A AR NBE R A 3 X U AR B
Y ERBE , T 2 BT O O T R X P 4, 7R
AR AN B, BRI 22 200 BV A 340 55 A1 1 1615
HRTEIE

G50 AE AR BAE ISR DL T, 48 8 AU T R B 4,
il B, ARXTS NG AL/ AR 8 4 = T
FIBRFIRAG LT B To 22 5, 2406 B SO AR
B0 o SCHE St DA AT BR B A R, A5 2

2. B WG T Ao A fe , Thn AEN

1] 4. 28 HEHAS — R PE 55 45 WA 70 000, 38 3 41
23 0 R IX 4R W — 58 3K T, 43 0 k45 T 1000, 5 000 .
15 000,30 000,50 000,70 000 7~ R i 18 i 384> A
(LT

TR 7 A ER FR%1=70 000%0.8x0.3=16 800

(1)48184 1 000, A H BRAI , AT AR o 1 4 Bl &=
(70 000x0.8—1 000) x0.4—7 000=15 000,48 M J5 1~ A i
A=70 000-15 000-1 000=54 000,

(2)457 5 000, A8 H FRAT , AT 401k o 1 40 B A=
(70 000x0.8—5 000) x0.4—7 000=13 400,481 J5 1> A i
A=70 000-13 400-5 000=51 600,

(3)4H 14 15 000, A i BRA , v 40155 o Iy 40 Bl 4

EETZOHAT - M ATO

=(70 000x0.8—15 000) x0.3-2 000=10 300,484 5 A
it A=70 000—10 300-15 000=44 700,

(4)4H 14 30 000, /& H PR, HAEFNER 16 800, 1 447
#i=(70 000x0.8—16 800)x0.3-2 000=9 760,45 5 A
it A=70 000-9 760-30 000=30 240,

(5)4H % 50 000, /i H PR, HAEFNER 16 800, L 447
#i=(70 000x0.8-16 800)x0.3-2 000=9 760,455 A
it A=70 000-9 760-50 000=10 240,

(6)4H % 70 000, /i H PR, HAEFNER 16 800, 1 447
#i=(70 000x0.8-16 800)x0.3-2 000=9 760,45 5 A
It A=70 000-9 760-70 000=-9 760,

TEFNBRBRAR VLT, D45 W 2 9 Bl , 240 W8 5 /D 4
Bl i 5 A 22 AN S, A s — R O o A2 s AE
W 3 & AR AR AR I s i, AR B i Z 4R WA e/ D g Bl (] e
JEUSCA 22 S B, e — =R AR PR TR R,
PABLTIC2E 5, ANREEZ Z ARG/ DB s, ansE g
ISR L, SR 1B BRI 1 B o [ %) ) A5, e A
TR T AT A A L

50 AR BN SARCIE LT BB A Fn R B, 4B 4
HIASE , 248/ DR H0 T A O R AR A R A
B, 2 RO AR OB A8 Ak ] B B R 8 2 9B, B
Je WA T A B 30, 38R a2 5 L [RIRE , X T rp 2
FRMmg 2 B RAE A (), R B IEnm 2, 3R =X
—F,

= VCEAEHBBRNFEFRNTEIRK

FETH A N BT, — B 2B WA 3 1
BLRTWOA o X B ik e =2 v aff B A, i A 143 2 4, ]

115 k5 12 A BUSAEZR R 578048 000, 4 H T.%¢
1 500, 71552 H A~ NS BB 4

HATAES IR B

[48 000- (3 500-1 500) | +12=3 833.33, ifi H Bi %
10% , 4 53 411 % %k 105, 17 44 B i 15 %45 =[ 48 000-105-
(3 500-1 500) ]+ (1-10% ) =50 994.44,50 994.44-12=
4 249.54, 38 LA 10%, 3540 B £k 105, W 24 N s
BiBi4=50 994.44x10%—-105=4 994.44

IR DR 7R MR L 7 ANBC EE )

(1) Bl AT BLS WA AT B o 78 TF B E B R
“[48 000-(3 500-1 500) ]+12"H , BLRIUCA 1 500 5Hi
JE WA 48 000 TR 7E — & . [a] AR 155 0 98 B BT 45 )
“[48 000-105-(3 500-1 500) ]+ (1-10%) " i Hi i J U
AR

(2) & WIS L o #E TH 5338 B 280, “[48 000-
(3 500-1 500) ]+12" 48 000 J&—4EAYUSCA , 4 3EE] 12
A A REAATRAY T3 500-1 5007 & —A H k12550, Ny
fHAZ o PR 1240 A 2 o 2 s T ABLBLRI0K , i

2015.04 - 47 -1



OM< AT - £ERFEFHT

KER SRR ST B S

)

SR A R, HRAH
(P EFE R H2E B, YL 221116)

[EE] & B4 LT F 07 BB A2 R F 2 EF R AR, XL Hrhtn L2 &R & 5

Yo, BSITH (4o A h M 5 95
B A IR BATHAT, AR SRS

BRIFHHINVER T — R E £ KL LSEO T4 F kahd#

[KSIA] 2 Fees); KAFHed; R FRR; atE

AR P

(S5 BIE)E , 75 I8 H A F AR IR i H, LR
LI 2 HRIE S T8 BB T B Ciolk 2 T I 2 9 5
— TR ) G CAS9) R = 1 AR L B 55 il
SRRl SR TR R M A U T B

HR T S LI 55 T 098 1 17 A A 5 A B4 17 38 5 380 ) A
I FH LA 1T Aol 19— IS 55, MR AT S 55 T RR
9 H AL, T LA A5 S5 e Bl g R O S e B A U
B

RZ B o T X AR RN PR AN B DA R ol B 1R i) s
T H AL SCE R B AU e, teak RisHe R ),
XA ) R AR R 55 310G R — A ME IR A A

iz BRI L SR, B S5 WA 48 000 R 2% B4 A ik
BT WA : 48 000+12=4 000, i ] Bi & 10% , ¥ 52 1R
#0105, 1 44 B T £5 %1=[ 4 000-105 ] = (1-10% ) x12=
4 327.78x12=51 933.33, 5 JE >k B W 44 Bi BT 15 Hi
“[ 48 000-105-(3 500—-1 500) |+ (1-10%)=50 994.44"#{
Fb A, AFUR B BRI , R S N BAU B T RS fin 2

1E% e A AL L), 12 A 0y np 4 Bi A= 4 327.78-
(3 500-1 500) ]x10%-105=127.78 , A% JERT 114 H 19 T
BEANBLNG DL, WIAE 2R TG 9 Bl = (4 327.78x10%—105) X
11=3 605.56, i 44F=3 605.56 + 127.78=3 733.34, 5 &
IR 4 909444 FHZE B, B IAR

RORARIEEHT 114 A TR 3 500 HiT11~H B2
LB ETHE N AT RAE R

WS ET 114 H TR 1 500, ) A Be Lt , B 4%
Bi%i={[ 4 327.78- (3 500-1 500) ] x10%-105}x12=
1 533.36, Bi. 1 i K ME AL

H 3 T BE BT A A BRI T, el Il B T
ASCHE S —AN AR, BIAE LR B et T B 25 8]

[1-48 - 2015.04

X R 1) S BT CASO B « i B B Ry
SPUHT BB AR R HR ) R R, SR
Hr i BBUR T LSS T W 5 s iy, A i AR 2 1Y
BB BRI AT AR ]G, A WA AR A
SV Hr ik By, R0 B B AR AN BEZN BTN I A1 8
S, A G A S8 A9 BB AR T UG , 9 B
BT B TR Al It JEAGIR S B 45 S AT, At 7= M 3
[FE

Xt PR F e, B CASO hIfRAEE 2 I, B

T R AR BE A R 45 AR T T LY 55 AR
B fff e 2 38 XA AT AR B TV B 8 -
B H WG, AR BABS TG, T35 1240 1, Fat
TR0, B T T LA 56 N B T3 T AR & s
YABLZER T, VT REIA RE B Lk PR E B O b e B sl
R AT L

FESE 0k

TP LAAPTIF P L I FAR T B TG AT 55
[J].AB&H,2013(43).

P LAAFTRBSLE AN AFL T F R B R 5
#[J]. %4 A F],2013(10).

B AL At W AR S SRR 4 XA B (M)A
A Ak, 2014,

FL,ARAHALMSFREES (ML LT T
X 3 At , 2013.

W B, B RS BB, KB, % T2 3 P48 AL AT
Jo PR 3 1) B 44 4h 738 4o 4] 2010145 5, 2010-07-21.

L2EAARRERESFTFERANARRE LR
4% 485 ,2011-06-30.

B 41 ASAPT 3L R £ 4501 (201147 ). B 4124
% 600%,2011-07-19.



